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Question Pattern:
Total marks: 50

Time: 2 hrs

Type A: (Total marks: 20 X 1 = 20)
1. 20 Multiple Choice Questions (MCQ) with 1 option correct.
2. Negative marking of 0.5 for each wrong answer.

Type B: (Total marks: 10 X 2 = 20)
1. 10 Multiple Choice Questions (MCQ) with more than one option may be 

correct.
2. Full credit only when all option(s) are correct. No part marking and negative 

marking.

Type C: (Total marks: 5 X 2=10)
1.  5 short answer type questions/ problems (Not MCQ type) each carrying 2 

marks.
2. No negative marking.

* Scientific calculator is allowed.


